
 

Multiplying negative numbers 
 

1. Complete the sums using the pattern to help: 

a. 4 × 3 = 12 

b. 4 × 2 = 8 

c. 4 × 1 = 4 

d. 4 × 0 = 0 

e. 4 × -1 = -4 

f. 4 × -2 = -8 

g. 4 × -3 = -12 

 

2. Complete the following sums: 

a. 3 × -4 = -12   b. 6 × -9 = -54   c. 5 × -7 = -35 

d. -10 × 3 = -30   e. -15 x 2 = -30  f. -9 x 9 = -81 

g. 2.5 × -4 = -10  h. -6 × 11 = -66   i. -12 x 1.5 = -18 

 

3. Complete the sums using the pattern to help: 

a. -2 × 3 = -6 

b. -2 × 2 = -4 

c. -2 × 1 = -2 

d. -2 × 0 = 0 

e. -2 × -1 = 2 

f. -2 × -2 = 4 

g. -2 × -3 = 6 

 

4. Complete the following sums: 

a. -4 × -6 = 24   b. -5 × -2 = 10   c. -3 × -8 = 24 

d. -11 × 4 = -44   e. 6 x -12 = -72  f. -8 x -8 = 64 

g. 20 × 3 = 60   h. -7 × -3 = 21   i. -9 x 6 = -54 


